Wald Test:
Equation: EQO2_FIXED_LSDV_DUMMIES

Test Statictic Value df Probability
F-statistic 10817.28 (9, 184) 0.0000
Chi-square 97355.49 9 0.0000

Null Hypothesis: C(2) = C(3) = C(4) = C(5) = C(6) = C(7) = C(8) = C(9) = C(10) = 0
Null Hypothesis Summary

Normalized Restriction (= 0) Value Std. Err.

C(2) 0.436599 0.025845
C(3) 2.232184 0.053961
C(4) 0.552827 0.049450
C(5) 0.345809 0.039588
C(6) —2.412535 0.046027
C(7) -1.801141 0.052239
C(8) —0.463275 0.026645
C(9) —3.927741 0.046340
C(10) —1.025984 0.037137

Restrictions are linear in coefficients.

Puc. 3. Pe3ynbrarel Tecta Banbaa mist monenu 2D B cTaTUCTHYECKOM NakeTe Eviews
Fig. 3. Results of Wald test for 2D model in the Eviews statistical package



